Crossword Puzzle

Across

1 - Important times

5 - Turkish bigwig

10 - In excess of

14 - Beancurd

15 - Improvise

16 - Corn syrup brand
17 - Mountain lake

18 - Metal spikes

19 - Memo opener

20 - Hydroxyl compound
21 - Staff

23 - Ailing

25 - Hit sign

26 - Large punch bowl
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31 - Penniless

35 - Copy

36 - Bendable twig, usually
of a willow tree

38 - Director Lubitsch
40 - Penury

42 - Tending to a definite
end

44 - | could ___ horse!
45 - Actress MacDowell
47 - Pomme or manzana
49 - ___ out (relax)

50 - Capital of Yemen
52 - Having no junction
54 - Fast flier

56 - Litigate against

57 - Book of the New
Testament

62-Jai__

66 - Waiter's offering

67 - China's Zhou ____

68 - Scottish loch, home to a

monster!

69 - Seed cover

70 - Sash

71 - Polynesian carving
72 - The last Mrs. Chaplin
73 - Wander

74 - Kiln for drying hops

Down

1 - Kitchen addition

2 - Horse of mixed color
3 - Bushy hairstyle

4 - Lighted by the sun

5 - Participant in a forum
6 - Economist Smith

7 - Faux pas

8 - Small mountains

9 - Soak up

10 - Depression-era
migrant

11 - Turbine blade

12 - Goes wrong

13 - School of the future?
22 - Long ago

24 - Summer sign

26 - "Give that _____ cigar!"
27 - Unfolds

28 -1 ___ vacation!

29 - yellow ribbon...
30 - Aids

32 - Mined mineral

33 - Jack

34 - Politico Kefauver
37 - Ready for plucking
39 - License plates

41 - Loud noise

43 - Categorize

46 - Facilitate
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48 - Flightless bird

51 - Evaluate

53 - Makeshift shelter

55 - Tinged

57 - Architect Saarinen

58 - Nabokov novel

59 - Hawaiian native dance

60 - Chemical used on

trees

61 - Japan's first capital
63 - Sci-fi princess

64 - Inquires

65-__ soup yet?

66 - Long March leader
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